Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Eephrase the following statement in bi-condihonal form
“If you get up early m the mommng, you will be healthy”

-

Answer | Please select your correct option )

You will be healthy 1 and only o you get up early m the mornng
P
correct
If you will be healthy then you will get up early in the morning
P
Ifyou will get up early in the morming then you will be healthy
-
Mone of these
(- -
Wede By: Wacger Siddhu




Question No : 2 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

Eeductio ad absurdum law is symbolcally dencted as

Answer | Please select your correct option )

o~ g—=r=p—ig—1)
C

p & q=p—=d~g—p)
e

P2g=-pva
o
5 pP—=q=(p g e

correct YWede By: Wedgelr Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

A cnitical row 15 that i which premuses have truth value T.

-

Answer | Please select your correct option )

at least one
P
exactly one
P
all
< correct
at least two
(- -
YWede By: Wedgelr Siddhu




Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

“What will be the output of an OR-gate if 1t has mputs 0 and 17

-

Answer | Please select your correct option )

0
1
‘ correct
-2
5 3
YWede By: Wedgelr Siddhu




Question No : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Let T be the universal set and A is its subset then A1 A% is equal to

-

Answer | Please select your correct option )

‘ correct
RE
: hade By: Bagdar Siddhy




Question No : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

Idenhfy the false statement

Answer | Please select your correct option )

e g

o correct

1grcid)

IfA andB are two sets AC B and FC A then A=25

Two sets are digjoint if their mtersection i3 empty set

YWede By: Wedgelr Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

I A and 3 are two reflexive relations then A8 will be

-

Answer | Please select your correct option )

Symmetric
L8
Reflexive
- correct
Transitrre
~
Weade By: Wagear Siddhuy




Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Symmetnc and Anb-symmetric relabons are

-

Answer | Please select your correct option )

negative of each other.
L8
satne.
C
not negative of each other.
P
correct Yheide By: Wecgelr Sicddha




Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

If two relations are reflesive then ther composthon is

-

Answer | Please select your correct option )

Anhi-symmetric
P
Reflezive
‘ correct
Trreflexive
-
Symmetric
(- -
YWede By: Wedgelr Siddhu




Question No : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

Inverse of relation can be obtamned by

Answer | Please select your correct option )

changing signs of elements m order parrs.
L8

changing position of elements in order pairs.
C

correct

talring multiplicative inverse of elements in order pairs.

P
Weade By: Wagelr Siddha




Question No : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

LetdxA={(11,01,2), (L3 (2,10,02.2.02 3,03, 1,(32),(3,3)) , find which one of the given relations is a fanction.

Answer | Please select your correct option )

£ ={(1L5,22.G1)

By ={(L,1),(1,2),2, 13}

B={(22,233GD}

Weade By: Wagelr Siddha




Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

I f(x)=2x+1 and g{x) = x® —1then f o f(x) =

-

Answer | Please select your correct option )

4x-3
-

4x2+1
,

4x+3
E correct
5 4z -1

YWede By: Wedgelr Siddhu




Question No : 13 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

Letfand g be the functions defined by F{x) =2x+3 and g{x) = 3x+ 2 then composition of f and g 1z

Answer | Please select your correct option )

hx+ 6
correct
Sx+5
hx+7
=
Weade By: Wacgelr Siddha




Question No : 14 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

The negatonof 1<x<10 1% £1orx 2 10 by usmg:

Answer | Please select your correct option )

Dnstributive Law
P

Inequality Law

De-Morgan’s Law

Mone of these

Yede By: Weldgelr Siddhu




Question No : 15 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

~

Tthe nth term of a sequence is @, =2(=3)" +5° then the term ay s

Answer | Please select your correct option )

1

0

1

- 2
Yede By: Weldgelr Siddhu




Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

The part of definihon which can be expressed i terms of smaller versions of itself1s called

Answer | Please select your correct option )

Recursion
P
correct
Cenclusion
P
Base
-
Restriction
(- -
YWede By: Wedgelr Siddhu




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The tower of Hanet 15 a puzze consisting of

-

Answer | Please select your correct option )

2 people
L8
3 people
= correct
4 people
P
Wade By: Wacgdr Siddha




Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

The same element can never appear --------- m a set

-

Answer | Please select your correct option )

£ correct
thrice
Weade By: Wager Siddha




Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

T (AUB)= A then

-

Answer | Please select your correct option )

(AmB)=5°
(AnB)y =4
(AnB)=EB
8 correct
Weade By: Wacgelr Siddha




Question No : 20 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

If'p =It1s ramuing
g = Zhe will go to college
"It 15 raming and she will not go to college" wall be denoted by

-

Answer | Please select your correct option )

Pl
-
correct

P g
-

C(pag)
A

B ¥ N
(- -

YWede By: Wedgelr Siddhu




Question No : 21 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

Determine whether the fimction 7 (x) =z +1 iz one-to-one?

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu




Question No : 22 of 26

Marks: 2 (Budgeted Time 4 Min) (=]

Cotmpute the first four terms of the sequence defined by the formula @, = 32 -3¢

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu




Question No : 23 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

Show that #(x) = +1 is onto function.

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu




Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min) (=]

Find the sum of the infinite G.P 2,421, ...

~

Answer | Please click here to Add Answer )

O E S| e e & e o=
|Nurmal L”Ar\al L||12 ;I B 7 g"é_ :

Yede By: Wadgelr Siddhu
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Marks: 5 (Budgeted Time 10 Min)

Question No : 25 of 26

Let A={ab c,d} be aset and consider the relation B = {{a,a), (a.b), (@03, (a,d), (b8, (b, d) . (c.c) . (c.d), (d.4)) ond Show that R is a partial ordering.

Answer | Please click here to Add Answer )

I | =12

|Nurmal

Yede By: Wadgelr Siddhu
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-

Marks: 5 (Budgeted Time 10 Min)

Question No : 26 of 26
Let fix)=ax+band gix)=cx+d , where ab,c and d are constants. Under what condition 7 og(z) = gof{x).

Answer | Please click here to Add Answer )

i | A

|Nurmal LI | Arial

Yede By: Wadgelr Siddhu






